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Solving Sequence

2’7—> —1—>6—>8—>4—->9->12>10~>11 — Cy4,C
Aknotdlagranﬂ 2301 06667803 089012 Cy O11 Cs 5>t

Ideals for irreducible componentfbf Xpar

I = (w4 a4 1)

* 1 irreducible components of dim¢ = 0, with total 62 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u?4+ur+.--+u+1)

(i) Arc colorings

= (3)

a7 =
az =
ayp =

ag = (
B
ag = (ud + u)
—ud 4+ ub —ut+1
—ud + 2u8 — 2u* 4 202
—u® 4+ 2u” — 3ud +2ud —u
—uM 4+ —2u" b —
—ul® 4+ 301 — 712 + 10010 — 1108 + 8ub —4ut + 1
—u'® 4+ 2018 — 51t 4 6ul? — Tul0 + 6ud — 4uS + 2ut — u?
—u? 4P 4 - 20
—u® +3u?P+ . —3uS +u
udt —5ut? 4+ 3u? +1
Wt — 6uB2 4 -+ Sud — 2

u%® —9udt + . 202 4+ 1
as = \ub® —8u® + ... — 6ut + u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u%° — 36u°® + - -+ + 4u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 w? +19u% + - —3u+1
C2,Ce ub? — w4 w1
€3 ub? +u®t 4 .. — 1604u + 676
C4, C5, C10 ub? bt w1
cg, Cy, C12 u%? — 7ubl + .. — 2551 + 23
ci1 u%? — 3ult 4 - -+ + 943u — 949




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c15 67 Y2 449y 4 4 Ty + 1
C2,Ce Yo% =195 .+ 3y +1
€3 y%2 + 25¢y%1 + .. 4 6973656y + 456976

C4, Cs5, C10 y62—59y61+...+3y+1

8, C9, C12 Y52 4+ 695 + - .- + 4527y + 529

e11 y62 o 31y61 + .- — 27237285y + 900601




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u=0.989985 4+ 0.1226171

1.32863 — 4.993141

—5.10286 + 6.832751

u = 0.989985 — 0.1226171

1.32863 + 4.993141

—5.10286 — 6.832751

u = —0.809064 + 0.58144471

3.36810 — 0.067511

—1.94023 + 0.356091

u = —0.809064 — 0.58144471

3.36810 + 0.067511

—1.94023 — 0.356091

u = 0.975055

—0.841645

—8.82830

u = —0.962183 + 0.0827301

—3.35982 + 2.230771

—11.92321 — 6.161821

u = —0.962183 — 0.0827301

—3.35982 — 2.230771

—11.92321 4 6.161821

u= 0.734854 + 0.7320671

2.04758 4 1.646421

—2.09598 — 4.374271

u = 0.734854 — 0.7320671

2.04758 — 1.646421

—2.09598 + 4.374271

u = 1.007400 4 0.2579711

3.02841 — 0.923841

—4.00000 + 0.569141

u = 1.007400 — 0.2579711

3.02841 + 0.923841

—4.00000 — 0.569141

u = —0.714319 4 0.7639611

7.22652 — 4.540261

2.91659 + 4.069611

u = —0.714319 — 0.7639611

7.22652 + 4.540261

2.91659 — 4.069611

u = —1.021670 4 0.2406101

2.88991 + 5.198151

—4.00000 — 6.776831

u = —1.021670 — 0.2406107

2.88991 — 5.198151

—4.00000 + 6.776831

u = —1.015640 + 0.2774751

9.38200 — 2.181461

— 60.10 — 0.6206261

u = —1.015640 — 0.2774751

9.38200 + 2.181461

—60.10 + 0.6206261

u = 1.037690 + 0.2407951

9.12317 — 8.492841

0.+ 6.462681

u = 1.037690 — 0.2407951

9.12317 + 8.492841

0. — 6.462681

u = —0.794505 4 0.7267211

3.07799 + 1.412541

2.04320 — 3.325821

u = —0.794505 — 0.7267211

3.07799 — 1.412541

2.04320 + 3.325821

u=0.884379 + 0.6313791

—0.51363 — 2.453051

—8.70061 + 2.479451

u= 0.884379 — 0.6313791

0.51363 + 2.453051

—8.70061 — 2.479451

u= 0.740332 + 0.8439871 9.98619 + 4.425041 0
u= 0.740332 — 0.8439871 9.98619 — 4.425041 0
u = 0.814940 + 0.7733691 9.03131 — 2.952771 0
u = 0.814940 — 0.7733691 9.03131 + 2.952771 0
u = —0.736127 4 0.8503481 16.3081 — 7.83131 0
u = —0.736127 — 0.8503481 16.3081 + 7.83131 0
u = —0.749447 4- 0.8423171 10.15460 + 0.033731 0




Solutions to I} V—1(vol + /=1CS) Cusp shape
u = —0.749447 — 0.8423171 10.15460 — 0.033731 0
u = 0.870586 —1.55742 —4.71840
u=0.756113 4 0.848275] 16.6739 — 3.21361 0
u= 0.756113 — 0.848275] 16.6739 + 3.21361 0
u = —0.935495 + 0.6514671 2.87996 + 4.993421 0
u = —0.935495 — 0.6514671 2.87996 — 4.993421 0
u = —0.930376 4 0.7078271 2.66249 4+ 4.071371 0
u = —0.930376 — 0.7078271 2.66249 — 4.071371 0
u= 0.926438 + 0.7472391 8.69067 — 2.790471 0
u= 0.926438 — 0.7472391 8.69067 + 2.790471 0
u= 0.965239 + 0.7022241 1.35675 — 7.132131 0
u=0.965239 — 0.7022241 1.35675 + 7.132131 0
u = —0.982215 4 0.7114117 6.42370 4 10.139301 0
u = —0.982215 — 0.7114117 6.42370 — 10.139301 0
u = —0.995337 + 0.7605581 9.39615 4 5.951091 0
u = —0.995337 — 0.7605581 9.39615 — 5.951097 0
u = 1.001000 4 0.7574381 9.18276 — 10.403901 0
uw = 1.001000 — 0.7574381 9.18276 4 10.403901 0
u= 0.994404 + 0.7670031 15.9378 — 2.81001 0
u= 0.994404 — 0.7670031 15.9378 + 2.81001 0
u = —1.005970 + 0.7588281 15.4757 + 13.83281 0
u = —1.005970 — 0.7588281 15.4757 — 13.83281 0

u = —0.620405 + 0.3275891

3.29016 — 0.223051

—0.445284 — 1.1741951

u = —0.620405 — 0.3275891

3.29016 + 0.223051

—0.445284 + 1.1741951

u = —0.024632 4 0.6940411

12.57310 + 5.420651

5.59415 — 3.086441

u = —0.024632 — 0.6940411

12.57310 — 5.420651

5.59415 + 3.086441

u = 0.012401 + 0.6771401

6.22588 — 2.176231

2.37812 + 3.158571

u= 0.012401 — 0.6771401

6.22588 + 2.176231

2.37812 — 3.158571

u = —0.163278 4 0.5128171

4.83308 + 3.114411

3.99348 — 4.972981

u = —0.163278 — 0.5128171

4.83308 — 3.1144171

3.99348 4 4.972981




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u =

0.172662 + 0.3548191

—0.089492 — 0.9347891

—1.87222 + 7.302681

u =

0.172662 — 0.3548191

—0.089492 4- 0.9347891

—1.87222 — 7.302681




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7 u%? +19u8 + - —3u+ 1
Ca, Cg w2 % w1
c3 u? + w4+ ... — 1604u + 676
C4,Cs5,C10 w2+ w1
cg,Cg,C12 u%? — 78 .. — 2550 + 23
11 u%? — 3uSt + -+ + 943u — 949




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
ci,cr Y2 + 49y 4 Ty + 1
C2, Cg Y2 — 195 + .. 43y +1
€3 y%2 + 25451 + ... 4 6973656y + 456976
Cy4,C5,C10 y62—59y61+~~-+3y+1
62 61
cg, €9, C12 Yo 4+ 69y°" + - - 4+ 4527y + 529
62 61
c11 Yoo =31y 4 - — 27237285y + 900601




